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
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             Solution :-      
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dx
I  Let  xu 3   dxdu 3   
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du
dx   
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u

I 
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                   Evaluate   )(sin

)cos(
2 x

dxx
I  Let  )sin(xu    dxxdu )cos(   

)cos(x

du
dx   
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                Evaluate   dxxxI )3(sec3)3(tan 23  

 

              Solution :-      Let  )3tan( xu    dxxdu )3(sec3 2   
)3(sec3 2 x

du
dx   

        dxxxI )3(sec3)3(tan 23

cxc
u

duu
x

du
xuI  
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23 )]3[tan(
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              Evaluate   
 dx

x
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I
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           Solution :-         







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

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)2cos(1
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dx
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2
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2

3
2
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du
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 





  c
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             Evaluate   dxxI )(sec2  

 

Solution :-       cxdxxI )tan()(sec2  

 

               

                 Evaluate   




dx
x

x
I

2

1

1

)(sin
 

       

        Solution :-      Let  )(sin 1 xu    dx
x

du
21

1


   duxdx 21  
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
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


c
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c
u
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x
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x
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2
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     Solution :-      Let  xeu    dxedu x     
xe

du
dx   

               








  cecu
u

du
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u
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x

x
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x
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               Evaluate  
 
 dx

x

x
I

2
)ln(

 

     Solution :-      Let  )ln(xu    dx
x

du
1

     xdudx   

         

     
   

  c
xu

Iduuxdx
x

u
I
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dx
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
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  dx
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x
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)sin(2
   )1( xx

dx
  dxx)(sin2  
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 

9

4
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x
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